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1. 3t mfla@e 0.2x+0.3y =1.3, 0.4x + 0.5y =2.3 § Yfsmans fedt o8 I5 a3
Solve the linear equation 0.2x +0.3y =1.3, 0.4x + 0.5y =2.3 by the substitution method. (2)
2. 2ygs A g dsracaac I 18 fsardft Sud 1fkgi duzrad |
The larger of two supplementary angles exits the smaller by 18 degrees. find them . (2)
3. pefagld st o ot i3 milage R} e e fesus I8 3 2
4x+Py+8=0,2x+2y+2=0.
For which values of P does the pair of equations given below has a unique solution
4x+Py+8=0,2x+2y+2=0 (2)
4, EII'EEI"Eﬂ:E‘l"Baé(SoIve Graphically ) Xx+3y=6, 2x-3y=12. (4)
5. Hag fa nfes <t Sardt § 5 feardht wer 2dte w3 Jardh § 3 feardivi eur Sdie 3
w3 T 833es 9 23q1 feardinit Wiz mier 3 | Aag miH Saret 3 frardi 3 I3t § 2
feareinit ear 2R 31 939es 67 Tl feaent Eg e 3 | mfes @ Sadt mi3 Iaetuzr
3 |
The area of a rectangle gets reduced by 9 square units, if its length is reduced by 5 units
and breadth increased by 3 units . if we increase the length by 3 units and the breadth by
2 units, the area increased by 67 square units. Find the dimensions of the rectangle. (4)
6. f¥a famst 10 Wifen fég grar <t fomr @ €8<e 30 km M3 grgr & ferr @ mighg 44 km FiEtd |
13 Uifenit fég feg gar <t femr @ €3¢ 40 km ™3 ga &t fomr @ nigAa 55km ATt J | a7
dosm3 fanst Sy e s usrad |

A boat goes 30 km upstream and 44km downstream in 10 hours. In 13 hours, it can go 40 km upstream
and 55km downstream . Determine the speed of the stream and that of the boat in still water . (6)



